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sUguoouobonod
s1i00onouogobagood

()00
J000000000000000000000
oo _fe (t=0)
0)56)—{0 (t20) (5.1)
(ii) f; S(t)dt =1 (5.2)

Gnooooo fg)Uooooooooooooo

[; f (t)3(t)dt = f (0) (5.3)

d(-t)=4(t)0 00004000000 O0D0ODO
s0000000000000000000

F(w) = [ a(t)e’“dt=¢’ =1 (5.4)

00000Jd0D00D00000ODwe0lee 0000000000000 DOOOOOO
O02a000 EDDO0O0OODOOOO0OZ2E=1000000a~-0000000400000000000
00000@2a000 E)§dooooooao
snaw

F(w) = 2aE (5.5)

snaw

000000000 2E=10a-00000 -100000 F(e)=10000000000

obooooood
000 F(e)=1000000000600000000000ODO0OODO

1 - 1 -
ot)=— | F(we“dw=— | e“dw 5.6
0=—-] F(@ 1. (5.6)

agoooooo
@00 f(t)=E
F(w) = [ Be“dt = 27E6(c) (5.7)

52000000000
00 ft) 0000000000 F(e)00000000 F(e)=F[f())0000000000000

Ooboooooo@o)yooboo

(noOOoo
Flaf,@ + A, 0] = aF[ £,t)] + A f,(t] (5.8)
(000000
F[f(t-1)) =exp(- jar F[f 1) (5.9)
(RUIUOOooo
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Flexp(= jkt)f (©)] = F(« +Kk) (5.10)

@Hoooooda
1@

FH(AM-AF(A) (5.11)
G)oooo

Flro®)=(jeo)Ff 0] (5.12)
(6000

FIF )] =27f(-«) (5.13)

530000000000000D00
OO0O00000 Convolution@D OOO)OODOO

f(t)=[ f,()f,t-0)dr (5.14)

f) 000000 f,()0 f,()00000000000 f=f0f,0000
000000000000000000000000000000000000000

F(w) = fw( [ fl(r)fz(t—r)dr)e'j“‘dt

= fl(r)( [ fz(t—r)e'i“dt]dr

= fl(r)( [ fz(t')e-w'*”dt'jdr

= [ fi@eTdr [ f,t)e“dt
gooono

FL1,0f,] = F (@)F, () 5.15)

5.4 Parseval O O O

[ |F)fdw=27] |f ) dt (5.16)
00]

FL1,(0) f, (0] = — F(6) OF, (@)

21T

ggooono

[ L0 10 d =" [ FOF.(@- )y

O0000w=000000
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_1 _
[ (0t = o [ FF(-y)dy

[ F(@)F,(-o)dw=27[ 1,@)1, (bt

opooo f,(t)=gt)*00000

F,(-w) = [’; f,(t)e <t = fmg(t)*ej“‘dt:( [; g(t)e-i“‘dtj*:e(w)* (5.17)
gddoooooooodooo

[ F@G@* dw=2r[ t)g(t)*d (5.18)
000000 g(t)=f(t)D0000O00 Parseval 000000000

[ F)fdw=27[ | (1) dt

Parseval 0O OO OOOOOO
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ggd f‘deDDDDDDDDDD—DQ)DDDDDDDDDDDDDDDDDDDD

gbbooboobobooboboooboan

5500000000000000000
0000 f()00000000000000000 F(e)00000000000F[f(t)]=F(a)O

f(t)=F'[F(w]0OO0O0D0DO00O00O00O000D00000000000000O00

gbobooboogboobbooboonog
000000 100000000000000O00000UNDNUIUIUUDNNNDNODNNeddew OO
gbobodbog1oooo
O0000o0o0O0OO0OO0O0O0OD0OOO0OO0OO0O0OO0OCO0OCOOOCOOOUOOOOOODOOOUOOO0OO(wDO

UooooobbobbbbobobddditUeedleeddnoooooog
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0000000000000 00e00000O0ODOO0OO0OO0OOOOOODODOOOOOOf()DOODO
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F(-w)= [ f()e“dt=F(w)* (5.19)
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Oddoooooooodn F(a.)DD f(t)DDDDDDDDDDDDDD
(== [ Fwe“dw=-- [ F@e“dw+— [ Fa)edw
27T += 27T = 21T
1 N 1 .
=— | F(-w)e“dw+— | F(w)e'*dw
- [ FCw) o [ F(@
1 . 1 .
=— Fwe““dw)*+— F(w)e'“dw
Zﬂ(f (@) 271[: (@)

= % f Re[F (a))ej“‘]da)

gboboobad f(t)DDDDDDDDDDDDDDDDDeijDDDDDDDDDDDDD
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